[image: image1.jpg]Q. 1:6. What will come in place of the question mark
i the following questions?
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Qs.7-12. What approzinte value will come in place of
the question mark (2 in the following questions? (You are
not expected to calculate the exact value)
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Q. 1320, What will come in place of the question
‘mark @) in the following number series?

712193 7
@50 @3

@a () None o these
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(1) 6563 @40% @376

@sin (5) None o these

15.1 49225 %

mu @1 @16

W (5) None o these
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MR @61 @86

@s1 (5) None o these

18.15 16 7 9 &5

17 Q25 @20

@1 () None o these

19.122 482 2%

W12 @16 @128

wet ) None o these

20.4 5 14 51 7 1125

1% @20 @

@210 () None o these:

Q5. 21-30. Each of the questions below consists of a
question and two statements numbered I and 11 given
belowit. You have to decide whether the data provided in
the statements are sufficient to answer the question. Read




[image: image2.jpg]both the statements and give answer:
(1) the data n statement | lone s suffcient to answwer
the question, while the data in statement I lone is
not sulficient o answer the question.
(@)if the data in statement II alone is sufficient
to answer the question, while the data in statement
I alone is ot sufficent to answer the
question.
()i the data either in statement | alone or in statement
Il alone s sufficient o answer the guestion.
(4 the data inthe statements | and l together are not
sulfiient to answer the question.
(5)ifthe datain both the statements | and Il ogether are:
necessary to answer the question
21. What s a two digit number?
1. The difference of the digits is 9
1L The sum of the digitsis .
22. How much s the rate of simple interest?
1. The sum is Rs 10,000
1L The interest earned in three years is Rs 3000
2315 Xan odd number?
1 Xis atowo digit number
1L Noneof the digits s 2.
24, Whatis a two digit number?
1. One of the digitsis 0’
1L The product o the digits is 0.
25, What i the speed of 150 metres long train?”
I The tran cosses a pole in 6 seconds.
L. The train crosses 300 metres long platform in
18 seconds.
26. The average of the ages of A, B, Cand Dis 26 years,
How oldis D2
I Dis one year younger than C.
1L The average age of A and Bis 26 years.
27 Whatis the raio of ages of A and B?
I Bis younger than A by 4 years.
1L, The sum of their ages s 16 years.
28.15 Y an even number?
I Yis divisible by 2.
IL Yis divisible by 5.
20 What i the area of arectangular plot?
1. The lengih of the plot is 100 metres
1. The area of the plot is 100 times i’ breadlth.
30.1sthe product of two numbers even?
1 The product s athree digit mumber.
1L One o the numbers is even.
31.25% profitis made if an artde s sold for Rs 437.50,
Whatisthe cost price of the atice?
(1) Rs 328125
@ Rs350
(@ Rs325
(4) Cannot be determined
(5) None of these
32. How many days will 6 persons ake to do a work
which is done by 12 persons in 18 days?

M3 @2 @10
D (5) Noneof these:

33. Which of the following fractons are i ascending
order?
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7
1
3
3
7
1

i

(5) None of these.

34, What should be added to 14399 to make it exactly
divisible by 7

1 2 @3

on () None of these

38. In how many different ways can 4 books be
armanged? 2

M2t @16 @7

(&) Cannot b determined

(5) None o these

36..20 litres milk contains 2% water. What quantity of
pure milk should be added so that water content comes
downto 1%

(1) 10litres  (2) 20litres. (3) 40 litres
(4) Cannot be determined (5) None of these:
37. Which of the following, is the smallest fraction?
1 2 3
[¢8 ® @ O
5
@5 CH

38. Abox has 2 black, 3 blue and 4 green balls, One ball

is picked up at random. What i the probabilty that it is
green?
2 3 1
0% @5 [CH

w? (5 None ofthese

39, Which of thefollowing numbers arein descending
order?

W-6,-5-4

@-1,-23

©)2,201,19

4,46

) None o these

40. A sum doubles tselfin 10 years at simple interes
Whatis the p.cpa.rat of interst?

s

o0

on

() Cannot be determined

5) None of these




[image: image3.jpg]Qs.4145. Study the following table to answer the given questions.
NUMBER OF CANDIDATES APPLIED, APPEARED AND QUALIFIED (Q)

IN DIFFERENT PROGRAMMES FOR THE GIVEN YEARS
Programme A Programme b C
Year [gpplied | Appeared Q | Applied | Appeared Q[ Applied | Appeared [']
200 | 250 200 00 750 50 50 130 5| 10
200 | 700 200 1200 1000 0 10 1 w | e
20 | 8% 2% 1200 5 a0 @ 15 125 %
203 | a0 20 | 1300 55 00 & 20 198 | 13
20 | 600 2600 1500 870 7 & 20 0 | 12
205 | 260 20 1700 120 1100 110 0 W | 160
206 | 70 20 190 1000 %0 110 7 m | 10

#1. For Programme B, for how many years is the per
cent of Qualified to Applied more than 107

(1) One. @Two.

(8) None. (5) None of these.

82. For Programme C, what is approximate percentage
of Quaified over Appeared for the given years?

WE QN @0 @5 66

43. In 2000, for Programme B, what is the respective:
rato of Applied and Appeared?

(3) Three

3:2 @5:7 ®7:5
@2:3 () None ofthese
44, For Programme A, which year is the percentage of
Qualified to Appeared the maximum?
(1) 2005 @201 @200
42006 () None of these

45, For Programme B, which year s the percentage of
Appeared to Applied the maximum?
(1) 2006 @200
(@200 (5) None of these
Qs. 4650, Study the following graph carefully to
answer the given questions.
PRODUCTION OF TWO COMPANIES A AND B
(IN CRORE UNITS) OVER THE GIVEN YEARS

@200

A B

47. How many units is the total production of

Company A for the given years?
()9 crores (21775 crores
@) 1225 crores (@) 11 crores
©) None o these:
8. What i the difference in units produced by the two
companies in 19997
(15000000 (2)15,0000000 ©) 1500000
@15000 (5 Noneof these

49. How many units is the approximate average
production of Company B forthe given years?

(1) 3 crores. (2)255 aores
275 aores (4)2.25 crores
©) 23 aores

50. In which year did both the companies have no
changein production from the previous year?

PRODUCTION

Y
1999 2000 2001 2002 2003 2004 2005
YEARS

46. For Company A, how much s the per cent increase:
in production in 2000 from 19997

1025 @25 @5

@125 (5) None of these

200 @0 (320
@200 ) None of these
"ANSWERS AND EXPLANATIONS
1) 2 3@ 4@ 5@
6. (2) 7.() 8.6 9.3 0.2
e nE
13 @)5+7-12, 124719, 12+19=31, 19+31=50
14 (1)2,4,16,236,x or 2,2, %,2,2% = 6553
Powers of 2arein G,
15 G123 E5,6
£-16
16. (4 All nos.are prime nos. Next no. = 23
17. 41,8,27,125,216ie.1,2,3, £,5,6
£61
18.(3) By adding 1, 2,3,
19.6)1x , 4x8-22,
8x30-15
The regd. o
20, (34,514,51,__1125
5 5x242-14, Ux3+3=5],
0, 20x5+5 = 1125
- Reqd. no. =220
21, (5) Let the digits at unit's and ten's places be xand y
ATS'y+x=9,y—

9x=

iy
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26.(5) Total sum of ages of A, B, Cand D
=26x 4= 104
Total sum of ages of A and B = 26 x 2 =52
Total age of Cand D =104 - 52 = 52
52-1

Ageof D=5

Ageof C =265 years

2.6) R
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or

55 years
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(By Cand D)

=Rs350
32.(1) Reqd. no.of days = 36
B.03)
34.(1) 1f we divide 14399 by 4, R =3

= No.tobeadded =4 -3 =1
35.(1) No.of ways =4! =4 x3x2x1 =24
36.(2) 2% water means 98% milk

Let the quantity of pure milk added bex I

99 20x9

ATS.(0+%) —
100 100

37.(2) Change into decimals
38.(3) Total balls=2+3 +4=9

Sx=20

Reqd. prob. g
39.(4)

10,5 R=XX100_

xx10

10 10% pa.

50
41.(2) In 2000 > Reqd.% = o x100
@) In2000 > Reqd e =2
Sly. calculate in other years.
In 2003 and 2006 it is more than 10
£2.(3) Reqd%= %xlm =60 (approx.) 6066

B M@
45.(5) In 2005, the reqd.% is max

16.(3) % increase = 215“"‘“

x100=25
crore

47.34)

48.(1) (25 - 1) crores = 1.5 x 1,00,00,000 =1,50,00,000
9.0) 50.4)




